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The following table shows the details of seven companies (A-G) about
(1) The percentage cost distribution of production of two items I and II.
(11) Ratio of cost of production between items I and II. and

(i11) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s T 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem IT Item I Item IT
A 15 2 3 25 20
B 11 3 2 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 27 5 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

et Aot § A ® o G 7% =i @10 B F 90 5 57 S0 w1 a5t 2

i) = A (smEem) 1 vd 10 i 3ears @ F faa #1 o

(i) = we I vd 10 o= Seamed = # SEE

(iil) =g I ug 11w sfEa =4 #1 9@ |
T | A T IeqeT F AR (GE1 H T ) 50 FAS 2| SH AlerH F ARSl % ATER
T T 1§ 5 9% F I A

_ _ _ IEATGH SANTE TSI | AT o = aiaed

F7t | 77 [ v 11 i Seamma = 1 i =
g I g 11 Tz 1 A5 11

A 15 2 3 2b 20

B 11 3 2 32 3b

C 22 4 1 20 22

D o] 3 5 15 25

E A 5] 3 28 30

F ) 1 4 35 25

G 12 1 2 30 24

What 1s the total cost of production of item I by the Companies ‘A’ and ‘C’ together?

(1) % 135 Croves
(2) T 11.8 Crores
3) % 3.325 Crores

@) % 9.8 Crores




i~

(1) 1855035
(2) 11.8Fs %
(3) 8.325FIS %

(4) 9.8 ‘-!-Tl'l_s £

1[Option ID=19201]
2[Option ID=19202]
3[Option ID=19203]
4[Option ID=19204]

Sl. No.2
QBID:1511002

The following table shows the details of seven companies (A-G) about
(1)  The percentage cost distribution of production of two items I and II.
(1) Ratio of cost of production between items I and II. and

(1) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s ¥ 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem IT Item 1 Item IT
A 15 2 3 25 20
B 11 3 : 32 35
C 22 4 1 20 22
D 3 3 5 15 25
E 27 5 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

AT ATlerl § A ® o G T %1 B9 A 6 w0 H S S e gedl w

@) 7w (smEem) [ vd I F 309 @0 o T 5 ufae

(1) = =51 I va 11 st Searea ST % S

(1i1) T I vg I 31tsa oy = 9w |
3 | FAEAT S IeqeT F AR (A1 R e #) 50 FS 2| H Aot F ATRSl FOATE
U T 1" 5 9% F I ifAu:

FHT | °7 I vd 11 F1 3091 < 1 diaera .

e I g 11 LA | |
A 15 2 3 25 20
B 11 3 2 32 35
C 22 4 1 20 22
D 3 3 5 15 25
E 27 3] 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

What 1s the amount of profit earned by Company ‘D’ on item IT?

1)




¥ 6.25 crores
(2) T 1.25crores
(3) ¥6.251akhs
(4) T62.5lakhs
FT D’ - Fi 77 [ W Ata =g 1 o = 27
(1) 62573 T
(2) l25=us =
(3) 6.256wmMa %
(4) G25+mMa =

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]
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The following table shows the details of seven companies (A-G) about
(1) The percentage cost distribution of production of two items I and II.
(11) Ratio of cost of production between items I and II. and

(i11) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s T 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem IT Item I Item II
A 15 2 3 25 20
B 11 3 2 32 35
C 22 L 1 20 22
D 8 3 5 15 25
E 27 b5 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

e Aot 8 A 8 o G 7% =i @10 T F 96 5 57 S w1 a5t 2

i) = A (smEem) 1 vd 10 i 3eard @ F fEa #1 o

(i) = wel 1 vd 11 % sig Scared =G =1 31991

(ii1) =g I ug 11 W stsa =4 #1 9@ |
T | FAEE e F ARG (FE F Hen #) 50 FS 2| 3H A TSl & AAEN
T T 1 H 5 9% F I A

_ _ _ SEXTe TG =1 S | Al g =7 qiaed

F7t | 77 [ v 11 i 3eamsa = 1 i : =
I Az 11 e I A5 11

A 15 2 3 25 20

B 11 3 2 32 36

C 22 4 1 20 22

D 3 3 5 15 25

E 27 5 3 28 30

F 5 1 4 35 25

G 12 1 2 30 24

Cost of production of item I by company ‘T 1s what percent of the cost of production of item IT
by company ‘D7

(1) 16%
(2) 33.33%
(3) 66.67%
(4) 20%

FHT D’ - Fil 77 [I W 30971 A0 6 gcd—nﬁfﬁﬁ F* =1 95 1 W 30915 =00d 1 TG 4 R

(1) 16%
(2) 35.33%

(3) 66.67%

(4)




20%

1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]

Sl. No.4
QBID:1511004

The following table shows the details of seven companies (A-G) about
(1)  The percentage cost distribution of production of two items I and II.
(i) Ratio of cost of production between items I and II., and

(1) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s ¥ 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem IT Item 1 Item IT
A 15 2 3 25 20
B 11 3 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 27 5 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

AT En aTer® § A ® o G T %1 B9 A w0 H S S B e gl w

Q) 7 e (smeem) [vd I 1 309 @ F fae # i

(i) = =@ 1w 11 9= SeeA = # SE

(1i1) T I vg II W 31tsa e = 9w |
= A A I e (G # e ) S0 FS 2| T At % Al % SEn
U W 1 ° 5 9% F I A

Fdl | wg I va 11 =i 3eqmea =eTd =1 giaerd =

E= el | 7g I1 e I Az 1T
A 15 2 3 25 20
B 11 3 2 32 35
C 232 4 1 20 22
D 3 3 5} 15 25
E 27 5] 3 28 30
F ) 1 4 3b 2b
G 12 1 2 30 24

What 1s the ratio of the cost of production of item I by company ‘A’ to the cost of production of
item I by company D7

(1) 3:5
(2) 1:2
3 2:1
(4) 2:3

oz 1% o Ft ‘D it 30 =era F1 Ge |3 FT AR 3T A0 S w2




1) 3:5

(2) 1:2
3) 2:1
4 2:3

1[Option ID=19213]
2[Option ID=19214]
3[Option ID=19215]
4[Option ID=19216]

Sl. No.5

QBID:1511005

The following table shows the details of seven companies (A-G) about

(1) The percentage cost distribution of production of two items I and II.

(11) Ratio of cost of production between items I and II. and

(i11) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s T 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem IT Item I Item IT
A 15 2 3 25 20
B 11 3 2 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 27 5 3 28 30
F 5 1 4 35 25
G 12 1 2 30 24

Aty atfersn @ A o o9 G @ 1 91 T & 90 39 = 1 e et 2

i) = Ael (smEerm) 1 vd 11 i Seared =T % fEae 1 wiae
(i1) = 7El I vd I1 = &9 3091 @FE 6 37994

(i11) Tz I va I1 W #Alsa o & 909 |

T WA FOHE H I il A (FHT S H ) 50 S 2| TH Al & ATRSl & ATEN

U H= 1 4 5 9% & S A |

_ _ _ ST T 1 A | ATAG A 1 WEed

F1 | w5 I va 1L =t Seqme =T =1 Tiaerd : -
e I g I1 oz I Hg 11

A 15 2 3 2b 20

B 11 3 2 32 35

C 22 4 1 20 22

D 5 3 5 15 25

11 27 5] 3 28 30

F 3 1 4 35 25

G 12 1 2 30 24

What 1s the sum total of the profit earned by Company ‘B’ on the production of item I and the
profit earned by Company ‘A’ on the production of item IT1?

(1) T 97.8 lakhs

(2)




(3)

(4)

T 1.956 crores

T 5.28 crores

¥ 52.8 lakhs

FH B 1 "5 [ Seaied W #AAd o 3 e A’ F ug [ SeIeT W SAtad o B An
FMEY

(1) 978w @@=
(2) 1.956 ®Us
(3) 5.28 FI5 %
(4) 22.8¥1F F

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]

Sl. No.6
QBID:1511006

Which of the following are essentials to be ensured while conducting an Online Examination
based on objective questions for credebility of degrees?

(A) Proctored Environment

(B) Authentication of candidate

(C)  Authentication of parents

(D) Hardware and Software testing

(E)  Answer-sheet with proper numbering for writing answers
Choose the most appropriate answer from the options given below :

(1) (A)and (B) only

(2) (B) and (D) only
(3) (A). (B) and (C) only

(4) (A). (B) and (D) only




fsfri i fagasdima % fou aegioe T W snaiia Aies T S Fd AeE e § |
8 gHfr=a o ST T 2 7

(A) FATIIET ATATE

(B)  Imar = THEH

(C)  rar-Taar =1 g9

(D)  ETSEE HE HTFEEET 1 gl

(E) 3 Tomgd % T o=y oA % W s-gieas

= fou o fashedl ° ° HeH IUEE 39 F TA I
(1) === (A) 3F (B)
(2) FF= (B) 37 (D)

(3) Fa9 (A). (B) #T (C)
(4) Fa (A). (B) 577 (D)

1[Option ID=19221]
2[Option ID=19222]
3[Option ID=19223]
4[Option ID=19224]

Sl. No.7
QBID:1511007

Given below are two statements ; One 1= labelled as Assertion (A) and the other is labelled as

Reason (R) :
Assertion (A):  Multiple testing instruments must be used for formative assessment.
Reason (R) : Formative assessments are used for providing credits.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A)1s correct but (R) 1s not correct

(4) (A)1s not correct but (R) is correct




A

H=r o1 FoE fou e # ;. vF AfuEeE (Assertion A) % &9 ¥ feifigd 2 1 @1 8% FE0 (Reason R) # &9
q

SATFT (A) : g TS W TEATCRT geATEA o o0 TEE S W e |
#R0 (R) : TS HeATHAl 1 TN 152 54 6 fow T = 2
I FYA F A °, 4= 70 T e @ 9 e Swae T # 59 Fie

(1) (A) 3R (R) oF1 &1 2 3 (R), (A) F1 &&l =amen 2 |

(2) (A) #1 (R)5HA T8 2, =t (R). (A) =1 O = 775 2 |
(3) (A) = 2, =i (R) @&l 721 21

(4) (A) = =71 2, = (R) 581 21

1[Option ID=19225]
2[Option ID=19226]
3[Option ID=19227]
4[Option ID=19228]

Sl. No.8
QBID:1511008

For building a professional environment of an Educational institution

(A) A teacher must ask his/her students about other teacher’s teaching methodology.
(B) A teacher must feel envious about other teacher’s professional achievements.
(C) Teachers must work as a team.

(D) A senior teacher must encourage junior teacher to contribute in research and other
academic activities for the institution.

Choose the correct answer from the options given below :

(1) (A)and (D) only
(2) (B) and (C) only
(3) (C)and (D) only
(4) (A). (C) and (D) only

i Sifer H= 1 ST ST s F e
(A)  HASTF F T ASTTH 1 U0 G5 F A AN I F AT AT T |

(B)  HASATF Fl I ASATTH] F UM IAGA FAE T T TEGH FA1 T |
(C)  ST5AT9F Fi UF 5 % =9 4 FE F1 =00 |
(D)  AfE IEA9F F FHEE ASTE F G F 60 TG T 377 (4F FEFRAE H AFEHE FA F

= fou o fawed § 9 T8 I #1999 i

(1)  FF9 (A) F7 (D)




(2) - T
a4 (B) AR (C)

(3) Fa# (C) =7 (D)
(4) F=9 (A). (C) #:r (D)

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]

Sl. No.9
QBID:1511009

ARPIT courses. as Online Refresher courses, are offered on SWAYAM platform by
(1) UGC-HEDCs only

(2) PMMNMNMTT centres only

(3) National Coordinators of SWAYAM courses

(4) National Resource Centres in different disciplines

HAeTET TR Fi59 % %9 § ARPIT 84 Heleangd § 9 e g0 =9 (SWAYAM) wzsH W &

AT 27
(1) ZFa= UGC — HRDCs g
(2) Fa= PMMMNMTT F=1 g1

(a) Tata= e 8 wim gaeE % g

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]

Sl. No.10
QBID:1511010

Which of the following 1z NOT a characteristic of a MOOC? It can be accessed

(1) Anyvtime

(2) From any device having Internet browser

(3) Only in the classroom

(4) Anywhere
FefetEd @ @ %9 MOOC 1 fawmar 771 77 39 AW § <=1 =1 Sl 7
(1) =7 o

(2) TR IEHAA FN AT E

(3)




el @ wEl |
(4) TFE I

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]

Sl. No.11
QBID:1511011

Given below are two statements :

Statement I: Developing research guestions means narrowing down and focusing directly
on what vou want to know.

Statement II : A research guestion does not prompt a researcher to do literature survey.
In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I 1s false but Statement II is true

i 31 o fam m E

FoA (I) :  AFEHY U9 S = SATAEE | AT T 9E B 38 T Y Hitwa i w29

Fo (1) :  ATHIH T99 FAFEGFFA Fl Wiacd A440 Fa- & (o0 Tieatiad Ta Har 2|
I FYE F SAEE 0, A9 50 T EEeT ° F HE 39 1 999 S

(1) Fu9 I3 I =0 5 2 |

(2) e I 3R I 5T 1009 2 |

(3) [ 197 2, <A %o [ 3789 2 |

(4) FuF 1 36 2, AAFA A [LEF 7 |

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]

Sl. No.12
QBID:1511012




Match List I with List IT

List I

Data collection method

(A) Field observation

(B) TFocus group

(C) Intensive interviewing

(D)} Case study

List IT
Characteristics

(I)  Collects information from many data
sources

(I) Gathers detailed information from a
small. non-random sample

(III} Gathers preliminary information for
a research project

(IV) Studies a phenomenon in natural
settings

Choose the correct answer from the options given below :

(1) (A (B)-(III). (C)-(IL). (Dy-(IV)
(2) (A)ID). (B)-(IV). (C)-(IIT). (D)-(T1)

(3) (A)(IID). (B)-(IV). (Cy-(I). (D)-(II)

(@) (A)-IV). (B)-(I1D). (C)-(ID). (D)-(D)

geii-1 % =ra g=i-11 =1 e Fifse

71
(A) & TEEEA
(B) THIFH TE

(C) TT&A &R & 1

(D) 4| 3194

= fou e oo § @ @ 39 == Fi

(1) (A)(D. (B)-(III). (C)-(ID. (D)-(IV)

(2)  (A)-(ID). (B)-(IV). (C)-(IIT). (D)~(I)

(3) (AT, (B)-(IV). (C)-(T). (DH-(1T)

(4) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

111
(D) % 3731 Fal | Fa 9IE T 7
D) w9, T-anteo® e @ famm g
HT R |
(AIl) 389 9EsE F fow uReE gEe
T R |

(IV) WTHfaa AfeE | 9241 1 315994 F 7 |

Sl. No.13
QBID:1511013




Given below are two statements :

Statement I: The standard deviation of a sampling distribution of a statistic 1s often called
as ‘standard error’.

Statement IT : When number of samples taken from a population 1s between 30 to 60. they
are called as small samples.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I 1z incorrect but Statement II 12 correct

Fo () :  TF WAl % Tia=a (S % JF faee F A9 qF 32 FE S

Fo (I0) : = e | foe T afagen =it g 30 ° 60 = o= 2, 98 3% o1 Siagsl el =l 2 |

I FUE F A °, A G0 T fawed § 9 ged 399 I 1 99 i
(1) Fo [ 3 oA =3 2 |

(2) F¥A 1 #R 2 7o 7 |

(3) A [HH 7, ik e I 7 |

(a) F I7EE 2, wiE Fo I 2

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]

Sl. No.14
QBID:1511014

What 1s the full form of the Software SPSS?

(1) Statiztical package for Social Sciences

(2) Statistical package for Scientific Survey

(3) Special Program for Social Security

(4) Scientific Program for Social Survey
SPSS HFZa=E = W AH F1 77

(2)  H3FEF AT F T TR T
(3)




TR g % e fasm o

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]

Sl. No.15
QBID:1511015

An exploratory research on a small scale 1s called
(1) Sample test

(2) Pre-test

(3) Pilot test

(4) Informal test

(1) AT TET

(2) T4 e

(3) THEITE Wi

(4)  FFHTETEE W

1[Option ID=19257]
2[Option ID=19258]
3[Option ID=19259]
4[Option ID=19260]

Sl. No.16
QBID:1511016

When communication contents are purpesefully adjusted to fit an ideclogy. the result will be
(1) Internationalisation

(2) Promotion of peace
(3) Social practicability

(4) Power distortions

Wﬂ'ﬂﬁm
(1)  AFIEEFE
(2) =i 1 AT

(3) HHEI=F SAERAT

(4) e gaH 'félajwlr-ﬁq'l

1[Option ID=19261]




2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]

Sl. No.17
QBID:1511017

Which of the following can be cultural barriers in classroom communication?
(1) (A)and (B) only
(2) (B)and (C) only

(3) (A}, (B) and (C) only

4) (C).(D)and (E)only

FfefEd © O FFE FE T IO T A STEEE A T B 7
(A) a7
(B) fas 31 v

(C) =g vy (HiiEeEw)

(D)  FafFas goeier

(E)  =i: Hiepics Aragea

i1 fou v faew A @ mEE IUgF I 1 =9 FIA
(1) FF (A) 371 (B)
(2) Fa4 (B) 317 (C)
(3) FF (A). (B) 31 (C)

(4) a« (C), (D) w1 (E)

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]

Sl. No.18
QBID:1511018

Given below are two statements ;

Statement I: Conditioned words can be used to revive old emotions in irrelevant
situations.

Statement IT : Stereotypes do not have emotional colour related with the superiority
feelings of the upper class groups.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement IT 1= falze

(4) Statement I 1s false but Statement II is true




T 7 #em frm e 7
FoF (1) SERTE T § R A, A e F 0 AFEen ea F I9EE wE S

T 7 |
FoF (ID) : & T&U 4 3== &1 & TUa1 Hil J9d1 F g F31 WGACTF SE T B 2 |

I FUA F AE 5, 4= 150 T TEST 5 H HE 39 S 99 S
(1) FF I3 [ 5AT &5ed 2 |

(2) = 130 I 5HT A5 2 |

(3) FA [ 97 2, wfFT Fo4 1L 3797 & |

@ T 1wmeE 2 A FE I OT 2 |

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]

Sl. No.19
QBID:1511019

The second model of communication by Wilbur Schramm has the sequence of following
elements:

(A) Encode
(B) Interpret
(C) Modify
(D) Extend
(E) Decode

Choose the correct answer from the options given below :
(1) (A). (E). (B). (C). (D)
(2)  (A). (O (E). (D). (B)

3) (A). (D). (B). (C). (E)

(4) (A (B). (C). (E). (D)

faee g9 F oo gadi fodim ufaen § Fefates = #9m #0 27
(A) %F‘J-"'l' 9 AT

(B) =TT AT

(C) e F0

(D)  Towam ==

(E) To==a =1

#= fou o fawedi § 9 98 I 1 9 Fitaw
(1) (A). (E). (B). (C). (D)

(2)  (A). (C). (E). (D). (B)
3) A). (D). (B). (C). (E)

(4) (A). (B (C). (E). (D)

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]




Sl. No.20
QBID:1511020

Match List I with List IT :

List I
Deseription
(A) Silent Prayer
(B) Teacher speaking to people at a
public place

(C) Exchange of ideas with the staff of
equal cadre

(D) Informal information exchange by
employvees

List IT
Type of Communication
(I)  Grapevine

(II) Intra-personal commumnication

(III) Group communication

(IV) Horizontal communication

Choosze the correct answer from the options given helow:

(1)  (A)(III). (B)-(IV). (C)-(T). (D)-(II)
(2) (A)-(IL). (B)-(III). (C)-(IV). (D)-(I)

(3) (A)-(IV). (B)-(I). (C)-(I). (D)-(III)

(4) (A)-(D. (B)-(II). (C)-(IIT). (D)-(IV)

gt [ =19 g=h 11 %1 fgem Fif=o )

T 1
EER T
(A) =@ T
(B) SSATYF UF AEAAF TH T A 50

(C) =UE F=0 F FHamEl & oy 9w F1
HAEA-TEH

(D) FH=IE GRT SR =9 g=T F

S——
o0 T [Eaedl § | "l 3T 1 =9 I

(1) (AL, (B)-(IV). (C)-(I). (D)-(IT)
(2) (A)-(II). (B)~(III). (C)-(ITV). (D)-(T)

(3) (A)-(IV). (B)-(I). (C)-(ID). (D)-(IIT)
(4) (A)-I). (B)-(II). (C)-(III). (D)-(IV)

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

y

=i 11
O SH-vEg
1) =5t T
(III) T Feem

(IV) é@fasfim T

Sl. No.21
QBID:1511021




Find the wrong term in the given series:
T. 28,63, 124, 215, 342, 511, .......

(1)
(2)
(3)

(4)

28
63

342

511

& T N T HHA-T 9% e 7 ¢
7,28, 63,124, 215, 342, 511, .......

(1) 28
(2) 63
(3) 342
@) 211

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.22
QBID:1511022

A man bought 13 chairs and 5 tables at a total cost of Rs. 8280. If the average cost of the
table 1s Rs. 1227, What is the average cost of a chawr?

(1) Rs.165
(2) Rs.175
(3) ERs.155
(4) Rs=.166

U =AfGa 4 13 FEAl 3 5 5 8280 ¥ % Fel god W @Gl | Alg UF g 1 AEd goa 1227 w9 A,

(1) %. 166
(2) % 175
(3) ®. 1533
(4) & 166

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]

Sl. No.23
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Find the next term in the series:
EMO. EOQ, HQS. ?
(1) KELM

(2)




LMIN

3) EKSU

(4) SOW
0 4@ T 3Tl U5 941 2 Y
BMO. EOQ. HGS. ?

(1) ELM

(2) ILMN

3) KSU

() SOW

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.24
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A person reaches his destination 40 minutes late if his speed 1=z 3 km/hr and reaches 30
minutes before time if his speed 1s 4 km/hr. What 1s the distance of his destination from the

starting point? (in km)

1) 12
(2) 13
(3) 10
(4) 14

12 =at7g 3 A fgz F1 7fa 9 9o 40 oz 1 26 3 o e 9% TEaa @ s 4 AL g
e | e W 30 o2 U wEE WA 7, WEAT TE 9 36 Taed a% # o (AL #) e 27

(1) 12
(2) 13
(3) 10
(4) 14

1[Option ID=19293]
2[Option ID=19294]
3[Option ID=19295]
4[Option ID=19296]

Sl. No.25
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What will be a single discount equivalent to a series discount of 10%. 20% and 30%?

(1) 50.40%
(2) 49.6%
(3) 20%

(4)




45%
10%, 20% = 30% =1 F5er: g2 7= & 9 50 vwe 92 % s =i 7

(1) 50.40%

(2) 49.6%

3) 20%

(4) 45%

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]

Sl. No.26
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In classical square of opposition if "All S 1z P’ 13 given as true then which of the following
could be immediately inferred from 1t?

{A) ‘Some S 1s not P 1s false

(B) "Some Sis P 1s true

(C)  “Some S 1s not P 1s undetermined
(D) ‘Some S 1g P’ is undetermined

(E) NoSisPisfalse

Choosze the correct answer from the options given helow :
(1) (A). (B). (E) only

(2) (A). (D). (E) only

3) (B). (C). (E) only

(4) (C). (D). (E) only

e % FerteebE = | 4, w@dft S, PR, i wE B9 4 {5 ™ R 91 6 g § " w ) aohe
STAM A S T 2

(A FIS.PTEE, A

B FS.PE,TE R

(C) ‘T2 S.PEE, wilAaiE 2|
D) ‘F38.PF, #AtgifE 2

(E) =ES. PR, ™az

4= fou U feem 9 ° OE 35 R =9 Fi

(1) Fa= (A). (B). (E)




(2) === (A). (D). (E)

(3) Fa4 (B). (0). (E)
(ay F (C). (D). (E)

1[Option ID=19301]
2[Option ID=19302]
3[Option ID=19303]
4[Option ID=19304]

Sl. No.27
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Which of the following 1z defined as a type of irrelevant conclusion fallacy in which a
distracting element is introduced to obzcure an opponent’s position?

(1) An Appeal to Emotion
(2) Appeal to Inappropriate Authority
(3) Argument ad hominem
(4) Red Herring
FeAtetiEa | @ 8 @ faoRd o % UF TN 6 'Y H G T A @ THE afauat = et
(1) 9= F =0 wwE
(2) == MR % oo e

(3) TS #HH (ad hominem) 7

(@ TIF T4 (Red Herring)

1[Option ID=19305]
2[Option ID=19306]
3[Option ID=19307]
4[Option ID=19308]

Sl. No.28
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Given below are two statements :

Statement I: Analogical argsument involves drawing a likeness between two or more
entities In one or more respects.

Statement IT : Analogical argument 1s a type of deductive argument.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement [ and Statement II are correct

(2) Both Statement I and Statement IT are incorrect




3 Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s correct

i &1 e g E

FoH ([):  AG7AgT o A UF 41 309 AgF Teee 8 9 0 3% siaE e & s oneEal T
FAT A 2 |

F (1) : AGTIqTTF 7% FEAAF 7% F 0F TH F |

TR FUA % A H, A= e o e § § aed I I w9 R

(1) WIJﬂIHﬁWEﬁﬁI

(2) e 130 I ZE T=0d 2 |

(3) FoH 1 T8 2, S #oA I 7ea 2 |

(4) 0 [ 7, wifh wea [IEE 7 |

1[Option ID=19309]
2[Option ID=19310]
3[Option ID=19311]
4[Option ID=19312]

Sl. No.29
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Given below are two statements : One 1= labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The Classical Indian School of Logic. namely Ny&ava does not give separate
treatment of the inductive methods.

Reason (R) : According to Nvava universal propositions are obtained from perception
1tself by one of the forms of extra-ordinary perception.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) 1= true but (R) 1= fal=e

(4) (A) 1s false but (R) 1s true

= o1 FYA TU 0 E ;v AfFET (Assertion A) F F9 H TAREA 2 91 G50 396 FM0 (Reason R) F F9
.

AFUT (A): T A F TSI ARAT FEGE UG =, AR TEiaa B 99E T
T UEH A 2 |

F70 (R) 9 % STEN GIEHIHE 9 G191 F STETE TEA & UF &9 gRI 9 Toaan # A

ST FYA & AAE °, 49 50 T Twew § 1 "6 I 1 =5 i

(1) (A) 3R (R) =F1 5e9 2 3117 (R). (A) Fi 951 =ame 2 |




(2) (A) FR (R) =F & 2, =4 (R). (A) Fi T8 =ame 75 2 |
(3) (A) &3 2, =i (R) 316 781 2 |
(4) (A)z0eH ﬁ. BT (R) =1 _;f,l

1[Option ID=19313]
2[Option ID=19314]
3[Option ID=19315]
4[Option ID=19316]
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The argument that the fat saint must be eating secretly at night. although he does not eat
during the day and claims not to eat at all is based on which of the following means of
knowledge as per Classical Indian Logic?

(1) Verbal Testimony { Sabda)

(2) Comparison (Upamana)

(3) Postulation (Arthapatti)

(4) Non-Cognition (Unupalabdhi)
FANHFE qAAE a9 T F AT 98 a6 6 721 6 0d °§ T B9 H 9 H w7, T2 98 5 A
T 721 FA1 & 30 g WA 2 % a7 W wies 98 w1 2, 99 % otaied 8 9 90 e W

sraThig B 7

(1) 773 THO

(2) =ZTEH
(3) FA
(4) FATARG

1[Option ID=19317]
2[Option ID=19318]
3[Option ID=19319]
4[Option ID=19320]
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Amnil has decided to use either a DVD-RW or DVD-R. Which of the following statements are
true about these storage devices?

(A) Both DVD-R and DVD-REW are read only.

(E) DVD-R can be written-to only once.

(C) DVD-RW can be written-to many times.

(D) Both DVD-R and DVD-RW can be written-to only once,

Choose the correct answer from the options given below :

(1) (A)and (D) only

(2) (B) and (C) only

(3) (A)and (B) only




4y only

Al 3 SAE-A0 seeg W S Al € - FR F T F o o) s gsn wmeAl (w2 fsaEE)
agd O FH o FH TE R Y

(A)  TH SETE-3mW a9 SEE- R 359 d %A 9% 5964 § |

[ A

(B) EETEI-FW W Fae UF AW ol o 0 7 |

(C)  SHETESi-I Soeg %5 oW foran =1 dohd 2 |

[ Al

(D)  SETE-1 T SEEi-30 S5 oA W A uF 5w o o g 2 |

= fov o fawed § 9 95 I w999 Firan
(1) T (A) 37 (D)

(2) === (B) 5 (C)

(3) FEE (A) 3W (B)

(4) Fa= (D)

1[Option ID=19321]
2[Option ID=19322]
3[Option ID=19323]
4[Option ID=19324]

Sl. No.32
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Match List I with List IT

List I List IT
(Computer Terms) (Description)
(4) Linux (I)  Text File Editor
(B) Moazilla Firefox (II) Image File Format
(C) Notepad (III) Operating Syvstem
(D) JPEG (IV) Web Browser

Choose the correct answer from the options given below :
(1) (A-IV). (B)-(II1). (C)-(I). (D)-(IT)
(2) (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)
(3) (A)(ID). (B)-(IV). (C)-(I). (D)-(ILI)

(4) (A)-(IID). (B)-(IV). (C)-(II), (D)-(I)




g=fi-1 % =4 g=i-10 =1 [5em Fifs

71 T II
(A) =T I Tz A wEiA
(B) ST $Ta s (II) 3HS FIE FiH2
(C) =TS (III) sFTwfen fames
(D) st V) =9 s

i fam T faedt °§ @ =@ 3w =9 it
1)  (A)-IV). (B)-(IID). (C)-(I). (D)-(II)
(2)  (A)-(III). (B)-(TV). (C)-(I). (D)-(IT)
(3) (A)-II). (B)-(IV). (C)-(I). (D)-(IIT)
4)  (A-IID, (B)-(IV). (C)-(II), (D)-(I)

1[Option ID=19325]
2[Option ID=19326]
3[Option ID=19327]
4[Option ID=19328]
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Consider the spreadsheet given below:

A B C

1 Project Number of Days

2 A 15

3 A 20

4 B 30

5 A 10

6 B 10

7 A 5]

What 1s the output of the following formula in Cell C17
= SUMIF (A2 : A7, “A”", B2 : BT)

(1) 90
(2) 3p
3) &0

(4 20




oo

&1 i faawie (Srsefiz) 1 3@

u £l =i
2 A 15
3 A 20
4 B 30
5 A 10
6 B 10
T A 5

ot | 1§ FHefeiaa g3 (FHe) F ssege 741 27 = SUMIF (A2 : A7, “A”. B2 : B7)

(1) 90
(2) &0
(3) A0
(4 20

1[Option ID=19329]
2[Option ID=19330]
3[Option ID=19331]
4[Option ID=19332]
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The 1mage. sound and video data can be created in a number of file formats. In this context.
which of the following are compressed file formats?

(A) JPEG
(B) MP3
(C)  MIDI
D) AVI
(Ey DMP4

Choose the correct answer from the options given helow :

(1) (A). (B) and (E) only
(2) (C). (D) and (E) only

3) (B). (C) and (D) only

(4) (A) and (E) only

o (389), =t (wes) #i Hfifsn S 1 %% B BHZ B giad A o =@al 21| 3@ EWed
F=feafaa © 4 Fies Fied FiHz FH 27

(A) SdE

(B) wati3

(C)  uH =8 St W

(D) ©dH e

(E) TwAt4

= fou 7o fawedt O O O 3 @ 9= Fifaw




1) Y= (A). B) 3 (B)

(2) Fa= (C). (D) # (E)
(3) === (B). (C) 31 (D)
(4) Fa (A) 37 (E)

1[Option ID=19333]
2[Option ID=19334]
3[Option ID=19335]
4[Option ID=19336]

Sl. No.35
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Which of the following 1s not a mobile device?
(1) Tablet
(2) Smartphone

(3) Desktop PC

(4) E-reader

frAfafad o @ -1 dense feamsa 7 27
(1) e
() mwe

1[Option ID=19337]
2[Option ID=19338]
3[Option ID=19339]
4[Option ID=19340]

Sl. No.36
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In helping to protect prople from exposure to UV radiatiors. Montreal Protocol contributes
alzso 1n attainment of the following Sustainable Development Goals (SDGs):

(1) SDGs 3.11.14and 15
(2) S5SDGs 3.7.11and 12
(3) SDGs 2.3.5and 1l

(4) SDGs 3.5.7and 12

7 i TR % 3SgUTER " ST F G § HEEdl TF A 6 (e, Jilead gk d FeliEa ged
a4 <%= il UH i 4 APGHE 2 E R -

(1)  ugdE 3,11, 14 #1156

(2)




r\

ug g Sl 3. 7. 11 31 12
(3) THEEEI 2, 3.5 3R 11

(a) THEEEN 3.5, 7 # 12

1[Option ID=19341]
2[Option ID=19342]
3[Option ID=19343]
4[Option ID=19344]
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Identify the non-recvclable wastes among the following:
(A) Paper

(B) Plastic bottles

(C) Thermocol

(D) Tetra packs

(E) MMetal

Choose the correct answer from the options given helow :
(1) (B). (C). (D). (E) only
(2) (B). (D). (E) only
3) (C). (D) only
(4) &) (C). (E) only

(A) 99 (FrTH)
(B) AR e

-

(C) B B A |
(D) ZzmEm
(E) €T

H1= fou 0 foFeTl § O OE 3 R =9 FiE
(1) F== (B). (C). (D). (E)

(2) === (B). (D). (E)

(3) Faa(C). D)

(4) Fa (A), (C). (E)

1[Option ID=19345]
2[Option ID=19346]
3[Option ID=19347]
4[Option ID=19348]

Sl. No.38
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A key component in Swatchh Bharat Mission (Grameen). 'SLWM stands for

(1) Solid and Liquid Waste Management

(2) Sanitation and Liquid Waste Management

(3) State Level Waste Management

(4) State Level Water Management
T_-q-m:§'5l:|'|1_r[-h-—|:r_, I:]]'P ,I:-FI_]’—J,E.P_&[ - ‘.U—Hﬂﬁmmujﬁl'ﬂé%—
(1) =i s fofEs a5 = eme

(3) 27 dad = HASHE

(4) T2 FES AR HAFHZ

1[Option ID=19349]
2[Option ID=19350]
3[Option ID=19351]
4[Option ID=19352]

Sl. No.39
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Match List T with List IT

List I List IT
(Source/Process) (Air Pollutant)
(A) Transport Sector (I)  Methane
(B) Refrigeration and Airconditioning (II) Volatile Organic Carbons (VOCs)
(C) Landfills (ITT) Dioxins
(D) Incineration of Medical Waste (IV) HFCs

Choose the correct answer from the options given below :
(1) (A)IID). (B)-(II). (C)-(IV). (D)-(I)

(2)  (A)-II). (B)-(IV). (C)-(I). (D)-(IIT)

(3)  (A)II). (B)-(IV). (C)-(I1I), (D)-(I)

(4) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)




gefi-1 % @ g=i-11 =1 foem Fifse -

-1 T-IT
(A) TfEE & @ =
(B) THSH 71 TATEHSITA (II) =ToaEiter = e (2 A )
(C) =t F1 27 (FzrFea) (IIT) =TT
(D) Tafweaem = =1 S (IV) w=uFEHl (HFCs)

= 50 U ToFeql 8 | "Rl 39 B =EE R
(1) (A)-(III). (B)-(ID. (C)-(IV). (D)-(I)
(2) (A)-(II). (B)-(ITV). (C)-(I). (D)-(IID)

(3) (A)-(ID). (B)-(IV). (C)-(I1I). (D)-(I)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

1[Option ID=19353]
2[Option ID=19354]
3[Option ID=19355]
4[Option ID=19356]

Sl. No.40
QBID:1511040

Arrange the following fossil fuels in increasing order of their carbon intensities (gC/ML):

(A) Natural gas
(B) Coal

(C) Petroleum

Choose the correct answer from the options given below :

1) A)=(C)=(B)

(2) (C)={A)=(B)
(3) (B)y={A)=(C)

(4) (A)=(B)=(C)

Frfeafia Sfawm Soa1 (FieTrge) =i 39 A diaa % 9gd 50 %6 ° o -

(A)  TFEE T

(B) ==l
(C)  "zierEm

#r9 fou MU fEeT 3 ° 9E 3 =9 Fie




(1) (A)=(C)<=(B)

(2) (C)y=(A)=(B)

3) (B) <= (A) =(C)

(4) (A= (B)= er)

1[Option ID=19357]
2[Option ID=19358]
3[Option ID=19359]
4[Option ID=19360]

Sl. No.41
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During the British rule in India who among the following is accredited with diverting the

attention of the voung Indians from Western education to Oriental education?

(1) DMacauley
(2) Dalhouszie
(3) Annie Besant
(4) Fergusson

A § fates wEa  Snm Fefetea 8 8@ e g9 qadm S aeEe a | urea e s

(1) HFE

[

(2) ===

(3) T w2

(4) FgEA

1[Option ID=19361]
2[Option ID=19362]
3[Option ID=19363]
4[Option ID=19364]

Sl. No.42
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Given below are two statements :
Statement I: Universities recognized as Institute of Eminence (IoE) are exempted from

Government approvals for seeking academic collaborations with any foreign
higher education institution.

i

Statement II : Umversities with the status of IoE have complete Academic/Administrative/
Financial autonomy.

In the light of the above statements. choose the correct answer from the options given below:




(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement Il are falze
(3) Statement I 1z true but Statement II 1z false
(4) Statement I is false but Statement II is true

EIERARC T C R il

—

wo (D) :  3che BeaAl (@0 o 2) 76 =9 | 5an we Svatamreri #1 fF Eef = e seam g
SFTEF TEATT F F o0 TFR H STHEA o H g2 I 7 |

T (ID) : Ioh2 DOl (308 311 $) & T 9 favai=aneal &1 0 SR /vt o e
TH 7 |

ST YA % ST H, A 160 T el § " WE] 36 w1 S i

(1) = I3 I 2A 59 3 |
(2) FoH 13 I A1 319 & |
(3) T [ Tex 2, =i Fe I w5ea 2 |

(a) FoA 7 7, @A o 19 2|

1[Option ID=19365]
2[Option ID=19366]
3[Option ID=19367]
4[Option ID=19368]

Sl. No.43
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Acronym NCVET represents

(1) National Commission for Vocational Education and Training
(2) National Council for Vocational Education and Training

(3) National Council for Vocational Education and Testing

(4) National Commission for Virtual Education and Training

1 e e | B Bt i e 2

(1) =9 FHEE B AT THHIE 1S 2
(2)  FoFe FIEES T AR TEHTE TE 26
(3) -:|--f|:|ﬁ E3 5!11 = I EI--1:3F' IE L C | . L ;rrp-r[‘ =
(4) FIES FHOH B THAS TFTE WO 2

1[Option ID=19369]
2[Option ID=19370]
3[Option ID=19371]
4[Option ID=19372]

Sl. No.44
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National Education Policy (2020) envisages having a large multidisciplinary higher
education institution in or near every district of the country by the vear

(1) 2025
(2) 2030
(3) 2035
(a4) 2040
mim e AT (2020) 4, T F v T A W wF win vF gEd wsfwE I=w mEn a@en f
(1) 2025
(2) 2030
(3) 2035
(a) 2040

1[Option ID=19373]
2[Option ID=19374]
3[Option ID=19375]
4[Option ID=19376]

Sl. No.45
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Given below are two statements :

Statement I: Academic Bank of Credit facility 1z meant for credit wverification.
accumulation. transfer, redemption and degree authentication with students
as account holders.

Statement IT: Academic Bank of Credit will be a degree awarding organisation.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1= true but Statement IT is falze
(4) Statement I is false but Statement IT i=s true

FoH (I):  STHEEF 9% FF H(SZ FH GEAT F A0 GaT GRF F F H FEnga w7 s qe,
HeEH, T, TiaeF AR TSt gHiEm O 2 |

Fo (1) : AFEEF 99 31F Hiee 15U 1dE T4 95 T2 507 |

SIS F2F F A 1, A 150 T faeeul § | Ha 3 99 i
(1)




Fod I 3 I1 2F1 9ed & |
(2) =2[ I 3% I1 261 2/ 2 |
(3) o I aea 2, itk A I 378 2 |

(4) A [ 515ed 2, oA 21 [[5ed 2 |

1[Option ID=19377]
2[Option ID=19378]
3[Option ID=19379]
4[Option ID=19380]

Sl. No.46
QBID:1511046




Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that 1t 1s
more serlous in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of 1t due to wastage and other reasons.
Food gets wasted at the farm. when 1t moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perizsh soon after
harvesting. There iz a need to Improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
avallable, wastage 1s high. So. the most important requirement is to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It 15 estimated that
food worth at least Rs. 1 lakh crore is wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which 1s ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report says that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and peollution. Avoiding food wastage should therefore become a national
mission. It will have very positive environmental, social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
avallability 1s less.

FeTettEa 370 1 1% o1 79H T 46 5 50 9% 6 I 7
b e e e e D e B e e 1 s o e e o B e o O O o 2 e
W%ﬁﬁ%liﬂﬁffﬁﬁmﬂmmﬁﬁﬂﬁgﬂ'ﬁﬁﬁﬁ’ﬁmw#ﬁﬁ;ml
fova SAETEF = H T 30T WA 2 ﬂlhﬂﬂ'ﬁ'ﬂl"ﬂﬂwmw F= FOON W THY A= A
AMd A | 3 @a § @S A7 Gl 2 o6 36 SR of Sl Sl 2 $R 56 TEERG (R Sl 2, WSEOT fe
ﬁw?mﬂﬂm?ﬁ%ﬂﬁaﬁﬁ mﬁﬂwwﬁﬂwwﬂ—mwaﬂ?aﬁrww
= ‘sﬂ?l%l ATTTHAT 30 o9 FI 7 6 Ieq5T AN GSH0 Tgid § GUR A A, 9fided sasEEn, i =94
2| S =1 i H fi A= 3 gleum Suesg 3, weiEl ugd A 2| 74 Ted s Wl 9w 2 o
gifras w0 * fow 5 o= fdft ot =g 4, fft oft =01 o swifg 9 21, s Srressa sl S| F o A
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The world produces more food. but a large number of people are deprived of 1t because of

(1) Poor marketing strategies
(2) Multi-point wastage

(3) Traditional farming practices

(4) Transport and storage bottle necks
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that 1t 1s
more serlous in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of 1t due to wastage and other reasons.
Food gets wasted at the farm. when 1t moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perizsh soon after
harvesting. There iz a need to Improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
avallable, wastage 1s high. So. the most important requirement is to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It 15 estimated that
food worth at least Rs. 1 lakh crore is wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which 1s ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report says that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and peollution. Avoiding food wastage should therefore become a national
mission. It will have very positive environmental, social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
avallability 1s less.
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How can we prevent food wastage?

(1) Through popular awareness
(2) By better packaging methods
(3) With dedicated supply chain system

(4) By delivery of food to the needy
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that 1t 1s
more serlous in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of 1t due to wastage and other reasons.
Food gets wasted at the farm. when 1t moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perizsh soon after
harvesting. There iz a need to Improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
avallable, wastage 1s high. So. the most important requirement is to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It 15 estimated that
food worth at least Rs. 1 lakh crore is wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which 1s ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report says that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and peollution. Avoiding food wastage should therefore become a national
mission. It will have very positive environmental, social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
avallability 1s less.
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Preventing food wastage in India will improve its position in

(1) The FAO ranking
(2) The World Poverty Index

(3) The Global Hunger Index

(4) The Human Development Index
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that 1t 1s
more serlous in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of 1t due to wastage and other reasons.
Food gets wasted at the farm. when 1t moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perizsh soon after
harvesting. There iz a need to Improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
avallable, wastage 1s high. So. the most important requirement is to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It 15 estimated that
food worth at least Rs. 1 lakh crore is wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which 1s ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report says that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and peollution. Avoiding food wastage should therefore become a national
mission. It will have very positive environmental, social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
avallability 1s less.
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The food wastage is also responsibe for
(1) TUnequal distribution of food
(2) The gap between rich and poor countries
(3) Impact on transport sector

(4) Climate change and pollution
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that 1t 1s
more serlous in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of 1t due to wastage and other reasons.
Food gets wasted at the farm. when 1t moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perizsh soon after
harvesting. There iz a need to Improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
avallable, wastage 1s high. So. the most important requirement is to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It 15 estimated that
food worth at least Rs. 1 lakh crore is wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which 1s ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report says that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and peollution. Avoiding food wastage should therefore become a national
mission. It will have very positive environmental, social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
avallability 1s less.
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The passage suggests that food wastage prevention should become

(1) A movement for modern technologies

(2) A global clean plate campaign

(3) A national mission in India

(4) A strategy for equal access to food supply
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“Dukh Samyogviyogam Yoga Sanjhitam”, this definition of Yoga is mentioned in which
chapter and which Shloka of Bhagavad Gita?

(1) Bhagavad Gita 2/48

(2) Bhagavad Gita 6/50

(3) Bhagavad Gita 6/15
(4) Bhagavad Gita 6/23
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The word Veda stands for
(1) Smriti

(2) Prasthan Trayi

(3) Mantra Samhita

(4) Nirukta
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